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Question 1 (20 marks) Marks
(a)  For the function Ax) =4 —x? , find 4
@ A0 (i) A-3)
(iii) the domain (iv) the range
(b)  Match the following equations with their loci. 8
(i) y=x? (A) Semi-circle
(i) x2+y*=16 (B) Hyperbola
(i) y=3~ (C) Vertical line
(iv) y=J4-x* (D) Circle
V) x=-3 (E) Line with gradient, m =2
(vi) y=6 (F) Exponential function
(vii) xy=9 (G) Line parallel to the x—axis
(viii)) 2x-y+3=0 (H) Parabola
(©) Sketch, on separate number planes, the above graphs 8

in (b) from parts (i) to (iv).




3 Unit

South Sydney High - Half yearly exam 1997

Page 2

Question 2 (20 marks)

(2)

(b)

(c)

(d)

Find the domain of the following functions :

@) ) = > (i) ftx) = X~ 1

x2 =1

(i) Ax) = (iv) fx) =27

1
xZ+1

Are the following fuunctions odd, even or neither ?

Justify your answer.

() )= 5"~ (i) A) = 5=
(i) ) =

focrh)f0) 1
h x(x+h)

If Ax) = % , show that

Solve the following graphically or otherwise :

X
<4
x—-2

Marks
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Question 3 (11 marks) Marks
(2) ax*+b for x<-2
If Aix) = 2x—1 for 2<x<3
a
X for x>3
(i) Find a, b if (=2) =A1) 3
(i) Find the range of f{x) for these values of a and b 2
(i) Evaluate A—1) +2A(2) - f(6) 2
(b)  Find the following limits : 4
T
O 3
oy o 3x2—5x+1
lim X=X+
) fum 1+ 2x +2x?
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Question 4 (12 marks) Marks

(a) 2

150°

30°

Given that #DAC = 50°, /BEC =30° and LAFE =150°.

Find, without giving reasons, the size of ZACE

(b)
0 9 cm P
8 cm 12¢ 6 cm
R x cm S

Given that ZQPS = ZSOR,
(a) Prove that AQPS || ASOR 3
(b) Prove that PQ || SR 2

(¢) Find the value of x. 1
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(c)

(a) Find, giving reasons, the values of a and b. 4

(b) Prove that ZQPT is a right angle. 2

(d)

Prove that AABC = ACDE. 3
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